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QUESTION:  32 
Which component of the SD Access fabric is responsible for communicating with 
networks that are external to the fabric? 

A. edge nodes 
B. control plane nodes 
C. intermediate nodes 
D. border-nodes 

Answer: A 

Explanation:  
https://www.cisco.com/c/dam/en/us/td/docs/solutions/CVD/Campus/CVD-Software-
Defined-Access-Design-Gu 

QUESTION:  33 
What are the three foundational elements required for the new operational paradigm'? 
(Choose three.)  

A. centralization 
B. assurance 
C. application QoS 
D. multiple technologies at multiple OSI layers 
E. policy based automated provisioning of network of 
F. fabric 

Answer: B, C, E 

QUESTION:  34 
Which is a benefit of a cloud-based SD-WAN deployment? 

A. might be required for compliance with industry standards 
B. Controller availability never an issue 
C. security never an issue 
D. agility of change dependent only on your own internal IT processes 
E. Instant scale  

http://www.cisco.com/c/dam/en/us/td/docs/solutions/CVD/Campus/CVD-Software-Defined-Access-Design-Gu
http://www.cisco.com/c/dam/en/us/td/docs/solutions/CVD/Campus/CVD-Software-Defined-Access-Design-Gu
http://www.cisco.com/c/dam/en/us/td/docs/solutions/CVD/Campus/CVD-Software-Defined-Access-Design-Gu
http://www.cisco.com/c/dam/en/us/td/docs/solutions/CVD/Campus/CVD-Software-Defined-Access-Design-Gu


Answer: E 
 
 
QUESTION:  35 
Which two statements are true regarding Cisco ISE? (Choose two.) 
 
 
A. In distributed deployments, failover from primary to secondary Policy Administration 
Nodes happens automatically. 
B. The number of logs that ISE can retain is determined by your disk space 
C. ISE supports IPv6 downloadable ACLs 
D. ISE can detected endpoints whose addresses have been translated via NAT. 
E. ISE supports up to 100 Policy Services Nodes 
F. In two-node standalone ISE deployments failover must be done manually  
 
 
Answer: A, B 
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